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1. » The graph OffIS ShOWl’l 1nthe Flgurel . Estlmate j.of(x)dx = ,’ ke { =
(A)0(B)1(C)2 (D)—1 (E)—2

2. (BLEA)Let g(x)= j': f(t)dt Find g'(6) = 01
(A)—3(B)—2(C)—1(D) 0 (E) 3 |

3. (% L#8) At what value of x does &(x) have a local maximum value on [0,8]?
(A)x=0(B)x=2(C)x=4(D)x=5,x=6(E)x=7
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Figure 1.

Figure 2 shows the graph of a function 7. X B2 » #] 3| RRA~RRT AT % 3l 4 iE. 4
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4, lgp F(x) does not exist. . N
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Figure 2.
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6. Choose the correct form of the partial fraction decomposition of the rational function &_:)Té{z_fﬁ (where q, b,
c and d are constants)

a b a bx+c ax+b cx+d a b cx+d a " bx+c d
A): + B) —— H(C) = D - ' - ——
( ) =132 x2+1 ( )'{xffl')? + x2+1 ( ) {x—1j + x2+1 (D) x-1) - (x—-1)2 + x24+1 ( “(x-1) (x-1)2 ~ x2%+1
fl 3x%24+2x+1 .

0 Pt X =7 (A)2m4+tan” 2 (B) 0 (C)In4 (D)2 In 2 (E) tan™ 2
8.IFE=10, 1] x [0, 1] x [0, 1], then [ G2 +y*+23)dv= (A)5 B)4 ©3 D)2 E)]I
9.1 fx) = 6x* + 3 —e* then f'(0) = (A)12 (B)3+e* (C)0 (D)—&* (B)—1
10. Given [° f(f)dt =7 and [, f(t)dt = 2, find [f®dt= A)-9 (B)—5 ()4 D)5 (E)9

= HETHLEBEELAILLEEBFNRX)
L.(10%) If y(x) = 3x* + 1)(2x? — 5x) , then y'=?
2.(1057) IE£(x)=1In (5x —2x ~2), then f'(1)=?
3. (10 %) Suppose that f{5)=1, 7'(5)=6, g(5)=—3,and g'(5)=2. Find the following value :
@ (f)(5)=? (b) (-;i)'(s) =2 @ =1 OF3E= () <:”—gf->'<s> =
4.(10%) Find [*Z22 gy = Figure 3.
x2

5.(10 %) Let z= xSin(g) , find (a) -Z—i =7 (b) % =9

-2 d L d?
6.(10%) f(y) ==, find (a) -£=? () dy’:——?
7

7.{20 %) The region R is shown as Figure 3. Evaluate | er (x + y)dd =7

8.(30 %) Find (a)J- (6x* —4e** +i)dx =? 5 (b) je" cos mx dx = ? (c) J.:xssinxdx:?
X

; . 204 5, Z w2 )
9 (20%47) Find (a)fO IO yieTdydx =7 (104) ;(b)J.o“ J; (rcos@ +rsin@)rdrdd =2

10. 20%7) w=x"»*x=3u+v;y=u—v Find the following : (a) Wx> W, (b) owg mg



